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LL-d 43
T1-4-1 CPU 43
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1-1:
5V+ 5
CMOS
f 16.384MHz 5vV=5 0 70
4Mpps
S 2 .5Mpps
8msec 131sec
16382 f 16.384MHz
Ry 1 16,777,215
R, 0 16,777,215
--8388608 8388607
Ro 1 4095
Ro.Re S 1 16383
S 1 10000
RssRe 1 16383
S Rs 1 8191
. 0 255
0.98 250p sec f 16.384MHz
2
1 1.9y sec f 16.384MHz
ON
1
1
2
2
2 Z
1
8
8
2 2 124
1
1
0 70
-40 +125
80PIN QFP 14x 20mm
BACK NEXT
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1-6
1-6-1
1-2:
1/0
3, 33,
vdd +5V+ 5%
43, 73
12,21,52,
GND oV
54,64
16.384MHz
20 CLK |
50+ 10%
— 3 Low LSI
19 RST |
— Low LSI
16 cs |
— CS Low RD Low
18 RD |
— CS Low WR Low High
17 WR |
13 AO
14 AL I AO LSB A2 NSB 3
15 A2
4 DO
5 D1
6 D2
CPU DO(LSB) D7 MSB 8
7 D3
1/0
8 D4
9 D5
10 D6
11 D7
Low
2 INT 0 _
INT
35 ALM |
16 4096
+
36 +EL |
16 4096
37 = |
16 4096
BACK NEXT
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1/0
+
38 S0 | 1
16 4096
39 S|
16 4096
ORGI ORGI
41 ORGI | 1 EZ z
1 16
z ORGI EZ

— ORGI EZ

42 EZ I
1

_ ON INP

34 INP | —
ON INT
MARK
40 WARK | 1 1
16

74 N0
75 INL
76 A
77 %) | INO(LSB)  IN7(MSB) 8 INO High  Low
78 NG
79 s
80 N6
1 N7

I CLRA  Low A O
46 CLRA | 1

2 cw /
31 POUT | o
2 cew
32 PDIR | © /
1 1

_ 1

28 CLR | o
32
27 SON | o
BACK NEXT
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1/0
65 _
ouTOo
66 _
ouT1
67 -
ouT3 - -
68 _ OUTO LSB OUT7 MSB 8
ouT4 0
69 - 8
ouTS
70 -
ouT6
71 _
ouT?7
72
ALM +EL -EL Low
29 ERROR | 0 High
I Low
30 MOVE 0
S 1 A 2 90° 124
44 EA1 1
— 1 B 2 90° 124
45 EB1 |
I 2 A 2 90° 124
47 EA2 |
R 2 B 2 90° 124
48 EB2 |
22 OCLK 0 2
1 2 90° 2 2
50 OPU 0 A B 1
1 2 90° 2 2
51 OPD 0 B A 1
— SYNC High
53 SYNC |
Low
23,24,25
26,49,55
56,57,58
59,60,61
62,63
1.INT
2.RST ALM +EL —EL +SLD -SLD ORGI EZ INP MARK INO 7 EAL EB1 EA2 EB2 SYNC CLRA
(100kQ)
BACK NEXT
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1-8 CPU
LSI DO 7 8 80
68
1-8-1 780
1-5:780
780 X3202
WR
_ 3 o RD
RD
40 A0
Al AL
A2 A2
A3-7 A7 g cs
DO-7 |<= Y D0-7
INT [ T
RESET [< RST
SYSTEM
RESET
1-8-2 68000
1-6:68000
68000 X3202
R/W _
s
—O‘ >_;|:>o—> R
AL A0
0 AL
A3 A2
Ad-23 A4-23 Ig > » CS
VA @
AS =
Do-7 & 207
1PLO J e P INT
IpLl /9 =g
P2 ——9g 2%
RESET E
SYSTEM
RESET
BACK NEXT
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2.
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2-1:
A2 Al A0 WRITE READ
0 0 0
0 0 1 1(bit0-7) 1(bit0-7)
0 1 0 2(bit8-15) 2(bit8-15)
0 1 1 3(bit16-23) 3(bit16-23)
1 0 0
1 0 1
1 1 0
1 1 1
1.WRITE 2 )
2.
1 3
3.
4.
BACK NEXT
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SPEED
00h y
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I
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POINT
02h ( ) SPEED
o ¢ ) |- -
06h
30h 31h
+EL -EL ALM
07h
08h )
30h
31h +EL -EL ALM
09h )
MARK
OAN 1( ) SPEED
MAXIMUM | _ _ _ _ _
SPEED
|-
0Bh 1( ) - DECELERATION
— ' POINT
L
BACK NEXT
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MARK
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0Ch ( )
SPEED
MAXTMUM
SEDI T
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0Dh ( ) )
! DECELERATION
B ! POINT
MARK L
MARK
- ( ) SPEED
STARTUP |
SPEED [ ] l
OFh ( ) I -
e L1
ORGI
12h
) SPEED
MAX UM
SPEED
STARTUP
13h ( ) = -
— LI
ORGI
EZ
14h ( )
SPEED
MAX TMUM
SPEED
STARTUP
SPEED -
15h ( ) 4
£z
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ORGI
16h ) SPEED
STARTUP | _ _
SPEED I | TIVE
17h ) - I—I
ORGI
EZ
18h ( )
SPEED
STARTUP | . _
SPEED I : I| > TINE
19h = '- !
9 ( ) ORGI I_I |
B L LI L]
ORGI
EZ
EZ
1Ah ( )
SPEED
MAX IMUM
SPEED
STARTUP
SPEED |
1Bh ( ) wr
ORGI
£z
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BACK NEXT
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33h
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35h

40h

41h

50h

AOh

A2h

A3h

A5h

A8h

A9h

ADh

BOh ORGI

ORGI

ORGI

Blh EZ

BACK

NEXT

14

X3202



e X3202

(16 )

INO
B2h o N0

MARK
B3h MARK MARK
EOh 0uTO
E1h o0UTL
E2h o0uT2
E3h ouT3 ouTo 7
E4h ouT4 Low
E5h ouTS
E6h 0UT6
E7h ouT?
EEh SON ON SON  Low

1 CLR
EFh  |CLR 32

ON
Foh )
F1h oUT1
F2h o0UT2
F3h 0UT3 ouTo 7
Fah ouT4 High
F5h ouTS
Féh ouT6
F7h ouT?
FEh SON ON SON  High
FFh CLR CLR OFF
BACK NEXT
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4.
4-1
4-1

16
00h (Ro) 12 1 4,096 RW
01h ( C/R) 24 |0 16,777,215 RW

0 16,777,215
0zh ( PR 24 -8,388,608 8,388,607 Rl
03h R) 14 1 16,3837 RW

1 10,000 "2
04h R 14 1 16,3837 RW

1 10,000 "2
05h R 14 1 16,383 RW
06h (Rs) 14 1 16,383 RW
07h S R 13 1 8,191 RW
21h A 24 RW
23h 14 RD
40h ouTo 7 8 1/0 RW
50h 4 RW
51h 5 RW
52h A 6 RW
54h 5 RW
55h 9 RW
56h 3] 8 RW
57h 1 RW
58h 6 RW
60h 4 RW
61h A 2 RW
63h CR 2 RW
70h 5 RW
71h 3 RW
72h 4 RW
EOh 5 RD
Elh 3 RD
E2h 4 RD
FOh 12 9 RD
F1h 4 RD
F2h 3 RD
F3h 8 RD

1 *2
RW: RD:
BACK NEXT
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4-2
2-1 0
1 3
4-2-1 1
0 1 1
0 1
4-2-2 2
0 1 1
0 7bit 2 8 15bit
0 1 1
0 7bit 2 8 15bit
4-2-3 3
0 1 1
0 7bit 2 8 15bit
3 16 23bit
0 1 1
0 7bit 2 8 15bit
3 16 23bit
BACK NEXT
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5.
LSI 9 Ro
Ry
5-1
5-1-1 G )
Ro 1 4096 4096
0 Ro [pps/step] 5-1
5-1: ( f=16.384MHz)
pps
Ro pps/step
S
2500 0.1 0.1 1,638.3 0.1 1,000
250 1 1 16,383 1 10,000
50 5 5 81,915 5 50,000
10 25 25 409,575 25 250,000
1 250 250 4,095,750 250 2,500,000
5-1-2 (R )
R, R, C
Ry c
c R, - )
Ry
5-1-3 ®, )
LSI
R
R, D
5-1-4 (R )
5-1-5 (R )
S
5-1-6 (63 )
5-1-7 (R6 )
R5 R6
BACK NEXT
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5-1-8 S (R7
5-1:S
S 5-1 Tsg
R (R3+Ry) (R4-R) Ry
R, Ry
(Rg-R3)+ 2 S Ry-Ry
Rg+R; —5l Tsgls— —>|Tsg
Rs :|
—> Tsg *— —>| Tsg l@
<— Tg —> <— Tg
5-2
5-2:
f
= [Hz]
K pps/step 65536 R
f R
Vs — 3
V pps 65536 R,
__f'R
vV pps - 65536' RO
g =T KR
g pps/sec 131072
g T KR
9 pps/sec 131072
131072 (R, —R,) 131072 (R,—Ry+2  R,)
- t R S ( - f R
Tg sec 5 5
131072 (R, —R,) 131072 (R,—R,+2  R-)
To = R S ( )79 = R -
Tg[sec] 6 6
- (R,—R3)(R, + Ry —1) o P s
ol 1 | (R Rs *Re
_ (Rg=Rg+2" Ry=2)(R4 +Ry) _RiRs
S (Re>Rs bp = g P RR,
Dp[ 1
BACK NEXT
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6.
1
6-1
6-1-1
6-1: ( :50h)
bit
0 1
0 0.5 1.5
1 0
2 + Cw + CcCcw
3 Cw ccw 2 PULSE DIR
4 0
5 0
6 0
7 ON ON
0 0.5
0.5 1 1.5
1.5
POUT PDIR
6-2: POUT PDIR
POUT PDIR
bit3 bit2
0 0 H H
0 1 H | | | H
1 0 | H L
1 1 | L H
bit7:0_
1 bit7=1 INP
1
BACK NEXT
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6-1-2
6-3: ( :51h)
bit - -
B 1 1
1 EAL EB1( 1) 2
2 EA2 EB2 2 1
3 EA2 EB2 2 2
4 1 2
5 (0 )
6 (0 )
7 (0 )
( 12 )
6-4:
2 1
0 0 2
0 1 2 4
1 0 2 2
1 1 2 1
OPU OPD 1 2 2 2
A B OPU B A
OPD
6-1-3 A
6-5: A ( :52h)
bit
0 1
0
1 1 1
2 2 2
3 1 1
4 2 2
5 |-8388608 8388607 0 16777215
6 0
7 0
BACK NEXT
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A 12 2
bitdo 2
bit3 4 A B A
6-1-4
6-6: ( :54h)
bit
0 1
0 +SLD -SLD +SLD -SLD
1 +SLD -SLD +SLD -SLD
2 ORGI ORGI
3 MARK MARK
4 CLRA CLRA
5 0
6 0
7 0
bit0=0 +SLD -SLD R3 (R4>R3
) bit0=1 +SLD -SLD R3
6-1-5
2-1 1
2
6-7: ( :55h)
bit
0 1
0 +EL +EL
1 “EL —EL
2 ALM ALM
3 0
4 0
5 0
6 0
7 0
BACK NEXT
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6-8:
bit
0 1
0 ORGI ORGI
1 EZ EZ
2 +SLD +SLD
3 -SLD -SLD
4 NP NP
5 MARK MARK
6 0
7 0
6-1-6 (F)
+EL -EL ALM +SLD -SLD 1 256
256 0
16x Fx 1
6-1-7
6-9: :57h)
bit
0 1
0 CLR 1 CLR
1 0
2 0
3 0
4 0
5 0
6 0
7 0
6-1-8
6-10: ( :58h)
bit 0 ; 1
0 POUT POUT
1 PDIR PDIR
2 CLR CLR
3 INT INT
4 ERROR ERROR
5 MOVE MOVE
6 0
7 0
BACK

NEXT
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7.
7-1
7-1-1
7-1: ( :60h)
bit
0 1
0
1 1
2 2
3 0
4 S
5 0
6 0
7 0
00h 1Bh 40h 41h

SYNC High  Low

4 bitl 2
2 1

0 0

0 1

1 0

1 1

D O
C D
D
D O
C D
-8388608 8388607 2 D
BACK NEXT
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SPEED

MAXTMUM
SPEED

STARTUP
SPEED

TIME

SPEED

MAXIMUM
SPEED

STARTUP
SPEED

TIME

SPEED

MAXIMUM
SPEED

STARTUP
SPEED

TIME

7-2:

:61h

bit

N ool ™|l W] DN] L] O

o|jlo|l ol ol o] o

BACK

NEXT
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7-1-3 CLR
7-3:CLR ( -63h)
bit - -
0 CLR CLR
1 CLR CLR
2 0
3 0
4 0
5 0
6 0
7 0
8.
LSI
8-1
8-1-1
8-1: ( :70h)
bit
0 1
0
1
2
3
4 0
5
6 0
7 0
BACK NEXT
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8-1-2
8-2 ( :71h)
bit
0 A A
1 A A
2 0
3 0
4 0
5 C C
6 0
7 0
8§-1-3
8-3: ( :72h)
bit
0 ORGI ORGI
1 EZ EZ
2 INO N0
3 MARK MARK
4 0
5 0
6 0
7 0
8-2
8-2-1
8-4: ( :EQh)
bit
1
0 OFF ON
1 OFF ON
2 OFF ON
3 OFF ON
4 0
5 OFF ON
6 0
7 0
BACK NEXT
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8-2-2
8-5: ( :E1h)
bit - -
0 A OFF A ON
1 A OFF A ON
2 0
3 0
4 0
5 c OFF c ON
6 0
7 0
8-2-3
8-6: ( “E2h)
bit
0 1
0 ORGI OFF  [oRGI ON
1 EZ OFF EZ ON
2 o OFF  [INO ON
3 MARK OFF  [MARK ON
4 0
5 0
6 0
7 0
9.
2-1 6 7
0 1 3
9-1
9-1-1
LSI
BACK NEXT
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9-1 7 )
bit
0 1
0
1
2
3 0
4 OFF ON
5 OFF ON
6 OFF ON
7 CLR OFF CLR  ON
9-1-2
9-2: 6 )
bit - -
0 OFF ON
1 OFF ON
2 OFF ON
3 0
4 0
5 0
6 0
7 0
9-2
9-2-1
2
- 2-1 _ _
1 +EL-EL  ALM 2 ORGI EZ,+SLD -SLD INP
MARK
BACK NEXT
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9-3: 1( :FOh)
bit - "
L —
0 +EL  OFF fEL ON
1 _EL OFF “EL  ON
2 ALM  OFF ALM  ON
3 0
4 0
5 0
6 0
7 0
9-4: 2( :FOh)
bit - "
0 ORGl  OFF ORGI  ON
1 EZ OFF EZ ON
2 +SLD  OFF +SLD ON
3 -SLD  OFF -SLD  ON
4 INP OFF NP ON
5 MARK OFF MARK  ON
6 0
7 0
9-2-2
L o ON OFF
L ORGI EZ ON +SLE
-SLD  ON
9-5 ( :F1h)
bit
0 1
L S
0 ORGI  OFF ORGI  ON
1 EZ OFF EZ ON
2 +SLD  OFF +SLD  ON
3 -SLD  OFF -SLD  ON
4 0
5 0
6 0
7 0
BACK NEXT
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9-2-3
ON ON
9-6 :F2h)
bit
1
0 +EL  OFF +EL  ON
1 “EL OFF _EL ON
2 ALM  OFF ALM  ON
3 0
4 0
5 0
6 0
7 0
9-2-4
INO 7
9-7: :F3h)
bit
1
0 INO OFF INO ON
1 INL  OFF Nl ON
2 N2 OFF N2 ON
3 IN3  OFF N3 ON
4 N4 OFF N4 ON
5 N5 OFF IN5  ON
6 N6 OFF N6 ON
7 N7 OFF N7 ON
BACK NEXT
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8
10-1:
D7 | D6 |D5 | D4 |D3 |D2|D1 | DO
1 0|0 0O(0]0O0|O 0
‘ |~O.5
+ cw
2
D7 |D6 |D5|D4|D3|D2 (D1 (DO
0 0|0 oloJ]O0]O 1
Llima
L owm
OPU OPD
A
D7 (D6 |D5|D4|D3 |D2 (D1 | DO
0 011 oloJ1]0 0
A
D7 | D6 |D5 | D4 |D3 |D2 (D1 | DO
0 0|0 000 |1 0

10.

10-1
0 50h
1 80h
0 51h
1 01h
0 52h
1 24h
0 54h
1 02h

I— +SLD -SLD

+SLD -SLD
+0RGI

+MARK

+CLRA

BACK

EAL EBI

ON

NEXT
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55h

07h

00h

58h

04h

56h

CDh

57h

D7 | D6 |D5|D4|D3|D2 (D1 (DO
ojoJofoOof|O]1]1 1
iy
=
ALM
D7 |D6 |D5|D4|D3|D2 (D1 (DO
oloJlo]Jofo]JO]|O|oO
L ORGI
EZ
+SLD
-SLD
w
MARK
D7 (D6 |D5 | D4 (D3 (D2 | D1 | DO
0 010 oloj1]f|o0 0
|— POUT
PDIR
o
o
ERROR
MOVE
( )=16.384MHz
F=CDh=205

16x 205+ 16,384,000 0.0002sec

00h

+EL, -EL ,+SLD ,-SLD ,ALM 0.2msec
7 | D6 |D5 | D4 |D3 [D2 | D1 | DO
oloflolofofo]o]|o
ClR 1
BACK NEXT
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10-2
1
Ry
10-2:
0 60h 07 | D6 |D5 | D4 | D3 |D2 | D1 | DO
ofloflofl2]o|olofo
1 10h
s
A
0 61h
07 |06 [D5 | D4 |D3 |D2 | D1 |DO
olofloflo]lo|o|o|o
=
1 00h
0 63h —
CLR
07 |06 [D5 | D4 |D3 |D2 | D1 |DO
olofloflo]lo|o|o|o
1 00h \ -
10-3
(R (R2)
(Ro)
(R) (Rs) (Rs) (Re)
S (R?)
1
S S R?)
BACK NEXT
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10-3:

00h
00FAh 250
_ 16,384,000 _
K= 85.536° 250 1 [pps/step]
FAh 1pps 16,383kpps
lpps 10,000pps
16.384MHz
00h
03h 01F4h 500
16,384,000 500 _
V= 65536 20 00PPS
F4h
01h
04h 2134h 8500
_ 16,384,000 " 8,500_
= T 6553 20 oo00Pps
34h
S
21h 0BBSh 3000
07h
8500
5500 |
—t Tsgié— —>|Tsg
Bah 3500
500 |
—>{ Tsg == —>{ Tsg
0Bh <— Tg —> <— Tg —>
05h
BACK NEXT
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1 40h 0140h 320
16,384,000 1° 320
_ 10, 504, = pps/sec
131,072 40000
2 01h
_ 131,072" (8500 —500) _
T9= =6.382.000” 320 _ 0-25€C
0 06h o 131,072 (8500500 +2° 3000) _ ;45 sec
g 16, 384, 000 320 .
1 AOh
00AOh 160
16,384,000 1° 160
= = 9% = 20000pps/sec
2 00h 131, 072
Tg= 13L072° (8500-500)_ o 4 o
16, 384,000 160
_ 131,072 (8500 —500 +2° 3000)_
Tg 16, 384, 000~ 160 0.7sec
BACK NEXT
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10-4
S
(R5) (R6)
10-4:

10-1

10-2

10-3

Ry
0 01h 0186A0h 100,000
1 AOh
2 86h
3 01h
7 07 | b6 |05 | D4l D3 [D2 | D1 | DO
?
" |—————-0 OFF 1 ON
ON
YES
7 AOh
—
7 00h +
|~—
7 07 | 06 | D5 | D4| D3 [D2 | D1 | DO
2
NO |—————-o OFF 1 ON
YES

BACK

NEXT
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10-5
10-6
10-5:
1 YL ORGI 1 YEL  ORGI
ORGI  ON EL ON
ZEL ORGI +EL ZEL ORGI +EL
3 2 J
v
2
_ +
ORGI ON  OFF
ZEL ORGI +EL
3
ORGI ON  EZ ON -7 AN
v’ ~
[ Y
;S oRel— ——— N
e +EZ‘L:JT )
- /
| \\\ ////
-EL ORGI +EL D
10-6
0 60h 07 | 06 |D5 | D4 |03 |D2 | D1 | DO

1 10h ! L__

S
0 61h A
| D7 [ D6 |D5 | D4 |D3 [D2 | D1 DO
1 ozh ofofo]ofofo|1]oO
0
BACK NEXT
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0
0 63h CLR
| D7 | D6 |D5|D4|D3|D2 (D1 (DO
ololofofoflo|1]1
1 03h B
7 1
D7 | D6 |D5|D4|D3|D2 | D1 |DO
NO
2
YES
|—o OFF 1 ON
7 AOh ON
| ORGI
7 13h
=
Z
D7 | D6 | D5 | D4 [D3 D2 | D1 | DO
NO 2
VES 0 OFF 1 ON
NO D7 | D6 | D5 | D4 [D3 D2 | D1 | DO
?
YES
|—o OFF 1 ON
0 F2h
D7 | D6 | D5 | D4 [D3 D2 | D1 | DO
ololofloflo|2]2]|~2
1
L] ]
5 EL ON
_NQ
YES
3
— |
7 AOh
BACK NEXT
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I—O ORGI OFF 1 ORGI ON

7 08h
0 Foh
5 2
2 D7 | D6 | D5 D4|D3|D2 |D1|DO
?
NO
YES
<~
2
2
NO
ORGI  OFF
YES
7 30h
S —————
7 D7 | D6 |D5|D4|D3|D2|D1|DO
?
NO L—————o
YES
7 AOh
7 19h 11
7
29 9-1
D7 | D6 | D5 | D4|D3 |D2 |D1 | DO

ON

NO

YES

BACK

OFF 1 ON
OFF 1 ON
NEXT
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10-6
ACD

10-7:

21h(

A)

BACK

NEXT
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11.
11-1 (Vss=0V)
Vdd -0.3 +7.0 %
VIN -0.3 Yid+0'3 V
IlN + 10 mA
Tstg -40 +125
11-2 (Vss=0V)
Vad 4.75 5.25 \'%
Ta 0 +70
11-3 DC (vdd=5v+ 5% Ta=0 +70 )
MIN. TYP. MAX.
Viy 4.0 v
Vi 1.0 v
|||.| V|N=Vdd -10 10 ] A
*1 -10 10
I u A
*2 V||.|:VSS -200 -10
*3 IOH=—4mA
*4 loy=-8mA 2.4
Vou v
*5 |O|.|:—16mA
*3*4*5 lo=-1p A Vdd-0.05
*3 |O|_:4mA
*6 1o =8mA 0.4
VoL v
*5 |o|_:16mA
*3*5*6 lo.=1p A Vss+0.05
IOZ VOUT:Vdd or Vss -10 10 V] A
*2 Yy 1.5 v
Ipps | Vin=Vdd or Vss 100 pA
"LDO T CLK AD_2 CS WR_RD RST _ o
*2 INP ALM +EL -EL +SLD -SLD ORGI EZ INO 7 CLRA EAl EB1 EA2 EB2 SYNC MARK
*3 0CLK OPU OPD
0o
*5 SON CLR_ERROR MOVE POUT PDIR OQUTO 7
*6 DO 7 INT
BACK NEXT
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11-4
11-4-1 CPU
MIN TYP MAX
feik 16,384 MHz
telk 61 ns
Low tPWL 27 ns
Hi g h tPWH 27 ns
thr 3 ns
tra 5 ns
Trr 30 ns
tro CL=100pF 20 ns
tor CL=100pF 20 ns
Tay 10 ns
tya 0 ns
tWW 15 ns
Toy 10 ns
typ 0 ns
trsT 3tk ns
trsTH 3tk ns
tok 6lnsec
oy
CLK
ToyL
te—t=—t t
RD,c5 — =" ia
<=
tro tor

D7 O

A2 O

WR,CS

D7 O

BACK NEXT
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RST trsT —=
tasts =] ooy =]
T >—
11-4-2
MIN TYP MAX
A B t [ 2.5tk ns
B A tBA 2'5tCLK ns
A A tAA 2'5tCLK ns
B B tBB 2'5tCLK ns
2
EAL,EA2 |
|tAA ty | tgg tBAl
EB1,EB2 |
2
EAL,ER2 | 1 —
|tAB Ga| Tan | Tg | Tp
2
EAL,EA2 L2 s 2 e S |
EB1,EB2
1
EAL,EA2 — S I
EBIEB2 — . 1
2
EALEA2 — ¥ — —
EB1,EB2 — ] 1
4
EALEA2 — ¥ — [—
EBL,EB2 — —
BACK NEXT
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11-4-3

EAL,EA2
EBI,EB2

EAL,EA2
EBI,EB2

EAL,EA2
EB1,EB2

EAL,EA2
EB1,EB2

CLK

EAL EA2
EB1,EB2
OPU

OPD

CLK

WR,CS

MOVE
POUT, PDIR

CLK

SYNC
MOVE

POUT, PDIR

J . I Iy Ny N N Y BV

v

i —

| | | |
T

I

S I Yy Yy I Sy N o Y I oy Y
e

6oy — >t

g — '

i )1
<— 12

S Y Y N I Yy I o Y Y

~ 8tk -

'. L
I.—
71
e—1/0 —~

BACK

NEXT
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CLK _I_1_I_1_I_t_l_1_|_t_l_1_l_f_l_1_l_f—l_
|

ROUT,POIR ——— | |

1tcu<. > L

_
MOVE I 2t

wr |

CLK _I_1_I_¢_I_t_|_1_l_f_l_1_l_f7_17_f—l_

—_— 1
POUT,PDIR ———| .
1t « <—> | |
MOVE _—JI |
INT ' :

_— Iﬁ'—StCLK —>;
INP —

BACK

NEXT
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